
GAUDIUM CUM NUMERÎS!
CAPUT QUÎNTUM DECIMUM 

Charta operôsa

Supply the missing numerals:

prîmus _____________ _____________ quârtus _____________ sextus 

septimus _____________ nônus _____________ ûndecimus _____________   

Suntne hî numerî ORDINALES aut CARDINALES? _______________

Supply the missing numerals:

ûnus __________ trçs __________ quînque sex septem __________ __________ decem

Calculâ in Latînâ:

octô plûs ûndecim = __________   trçdecim minus septem = __________

duodçvîgintî dîvîsum sex = __________  secundus vir post prîmum virum = __________ vir

Respondç in Latînâ:

Quot (“how many”) oculôs habçs? __________    Quot digitôs in manibus habçs? __________

Quot digitôs habçs in pedibus? __________  

Quot digitôs in manibus et pedibus habçs? __________

Quot linguâs antîquâs amâs? __________

Trânsfer in Anglicam:

duae fçminae: ____________________ duae ex fçminîs: ____________________

mîlle virî: ____________________ duo mîlia virôrum: ____________________

Roman abacus, The Science Museum, London

The Late Roman abacus shown here  contains seven longer and seven shorter grooves used for whole
number counting, the former having up to four beads in each, and the latter having just one. The rightmost
two grooves were for fractional counting. The abacus was made of a metal plate where the beads ran in slots.
The size was such that it could fit in a modern shirt pocket. source: www.answers.com/topic/roman-abacus


